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Approximating the Binomial Distribution
With a Normal Distribution when h is large p close too 5

n p
Let X B too o Pf5oEXE55

P x c 55 o 9991
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Exercise 3C



ECX rip 100 x o 4 40

Va x npg 100 to 4 x o G 24

Approximate with 7 N II Eat
P 50 E X E 55

P qq.SE Y E 55.5 I 0.0255

Q2 Find P 33 EX E 45
X EAT On 8689

Binomial gives answer X E32 0.0615
O 8074

Normal P 325 E Y E 45.5

I 0 8063

Both approximations correct to about

CONTINUITY CORRECTION

When using Normal Distribution with discrete

data a coninuity correction is required

P 7 50 Pfa asos

where 50 is a discrete score


